LONGITUDINAL

LOAD TRANSFER SECTION BARRIER SECTION

DROP DOWN SECTION

i m_:_____ |

3240.0"[82300]

360.0"[2140]

180.0"[4570]

IIIIIIIIIIII

LONGITUDINAL BARRIER SECTION

& z
mm
=
a 9
v
wNz
[N
z
MAAWU
< A
[2'4
=
o O
<<
o a
—

TL-5 STEEL HIGH CONTAINMENT MEDIAN BARRIER

SGM42

DATE:

03/25/16

SHEET NO.

of 8

A

ArcelorMittal



MPI
Tampon


PAGE INTENTIONALLY LEFT BLANK

TL-5STEEL HIGH CONTAINMENT MEDIAN BARRIER

SGM42

A

SHEET NO. DATE

ArcelorMittal

20f8 03/25/16




8-FBBO] RWMO2b I FBX16a x 2.0"[50] & F844 5/8"[16] WASHER
SPLICE BOLTS & FWR03 RECT. WASHER
— : | | —
= = e o =
| RTBO1a
— — = —— ——=
= == == i ==
— =a = : == == ==
12-FBBO1 o isE TT X g T
SPLICE BOLTS / // ! RTMO20
A
2-FBX16a x 2.0"[50] I
& 2-F844 5/8'[16] WASHER !
& 2-FWR03 RECT. WASHER | POST | !
[}
|
| | [} 1
I [1520] [760]
- 00 _|_ 300 ]
' A
[}
[—— LONGITUDINAL BARRIER SECTION
UPPER TUBE
SPACER 2-FBX16a x 2.0" [50] & 4-F844 5/8"[16] WASHER
8-FBBO1
\ 1 FBX16a x 2.0"[50] & F844 5/8"[16] WASHER & FWR03 RECT. WASHER
FBX16a x 2.0" [50] & 2-F844 5/8"[16] WASHER
_ 12-FBBO]
% : § g A 2-FBX16a x 2.0"[50] & 2-F844 5/8"'[16] WASHER
25 25 . & 2-FWR03 RECT. WASHER
S &
= 2-FBX16a x 2.0" [50] & 4-F844 5/8'[16] WASHER
Y Y Y
/ A
MAIN COVER SPACER
| |
35 T eV
MAIN TUBE SPACER R Qo W
E(\l 41 ;1. H 4
Y E —_—
| | |
I I I
i1
TOP VIEW
SECTION A-A

TL-5 STEEL HIGH CONTAINMENT MEDIAN BARRIER

A

SGM42

SHEET NO.

Arcelortittal

DATE:

30f8

03/25/16



MPI
Tampon


The TL-5 steel high containment median longitudipatrier should be used in locations where contaitn
and redirection of heavy vehicles is required. Tasrier should be used in locations where the mari
dynamic deflection is intended to be 52" [1320mm]less. This barrier should be used in locationgnel
road users are exposed to severe fixed obstagebr{dge piers, walls ...) or to separate trafficda (median
This barrier is also an ideal altéveafor locations where maintenance and replacermér
existing barrier is frequent due to minor impa&@ynamic deflections measured with test TL5-10 (QKED
car) and TL5-11 (2,270kg pickup truck) are respetyionly 12" [305mm] and 19” [485mm].

separation).

INTENDED USE

COMPONENTS
Unit length = 180 inches [4570 mm]

Designator

FBBO1

FBX16a

F844 5/8” washer

FWRO03 rect. washer

RWMO02b

RTMO02a

RTBOla

Post

Upper Tube Spacer

Main Cover Spacer

Main Tube Spacer

Component

AASHTO Guardrail bolt and recessed nut for splice
connection in ASTM A307, Grade B

AASHTO Hex bolt x 2.0” [50mm] and nut in ASTM
A307, Grade B

5/8” [L6mm] plain round steel washer in accordance
to ANSI B18.22, Type B

3" [75mm] x 1.75” [45mm] rectangular washer plate
in ASTM A1011, Grade 50

192.5” [4890mm] W-beam rail 10-ga, ASTM A1011
steel Grade 80

192.5” [4890mm] Thrie-beam rail 12-ga, ASTM
A1011 steel Grade 80

AASHTO Back-up plates 12-ga, ASTM A1011 steel
Grade 50

118" [3000mm] long TL5 steel post, ASTM A1011
steel Grade 50

3" [76mm] x 4” [102mm] tubular spacer, ASTM
A500 steel Grade B

3/16” [5mm] thick cover spacer in ASTM A1011,
Grade 50

5" [127mm] x 7" [178mm] tubular spacer, ASTM
A500 steel Grade B

System

Longitudinal
barrier section

Longitudinal
barrier section

Longitudinal
barrier section

Longitudinal
barrier section

Longitudinal
barrier section

Longitudinal
barrier section

Longitudinal
barrier section

Longitudinal
barrier section

Longitudinal
barrier section

Longitudinal
barrier section

Longitudinal
barrier section

Number

40

48

78

18

APPROVALS

REFERENCES

TL-5STEEL HIGH CONTAINMENT MEDIAN BARRIER

SGM42

SHEET NO.

DATE

4 of 8

07/01/16 rev.

A

ArcelorMittal




[1510]
59.4"

LOAD TRANSFER CABLE

| B
|
[ A |
b |
[}
[}
| | | | | | | | | | |
| B
BEVEL WASHER [
& F844 1'"[25] WASHER LOAD TRANSFER POST REGULAR POST

BEVEL WASHER & F844 1"[25] WASHER

[1500]
59.0"

(890]

LOAD TRANSFER CABLE

e

o5 [
o = | !
2% _——— =
0 o w— | r—|
)= bl Lr o Lr
S T B
—= —=
Y b
TOP VIEW
SECTION B-B

TL-5 STEEL HIGH CONTAINMENT MEDIAN BARRIER

= SGM42

ArcelorMittal SHEET NO. DATE:

50f8 03/25/16



MPI
Tampon


INTENDED USE

The Load Transfer Section of the TL-5 steel higmtammment median barrier should be used at €
termination of the installed barrier in order tosere proper transfer of longitudinal traction loddsthe
ground and prevent significant movement of bareieremities. The Load Transfer section is madehef
same components as the regular Longitudinal Baséetion to which 4 diagonal cables have been ad
Cross section of the post is exactly the sameesdhtion of the TL-5 post. Two additional holegéth post

allow easy connection of diagonal load transfetesab

COMPONENTS
Unit length = 360 inches [9140 mm]
Designator Component
FBBOL AASHTO Guardrail bolt and recessed nut for splice
connection in ASTM A307, Grade B
FBX16a AASHTO Hex bolt x 2.0” [50mm] and nut in ASTM

A307, Grade B

5/8” [16mm] plain round steel washer in accordance
to ANSI B18.22, Type B

3" [75mm] x 1.75” [45mm] rectangular washer plate
in ASTM A1011, Grade 50

192.5" [4890mm] W-beam rail 10-ga, ASTM A1011

F844 5/8” washer

FWRO03 rect. washer

RWMO2b steel Grade 80
192.5” [4890mm] Thrie-beam rail 12-ga, ASTM
RTMO2a A1011 steel Grade 80
RTBO1a AASHTO Back-up plates 12-ga, ASTM A1011 steel
Grade 50
Post 118" [3000mm] long TL5 steel post, ASTM A1011

steel Grade 50

118" [3000mm] long TL5 steel post, ASTM A1011
steel Grade 50 with two additional 1.8” [46mm]
holes

3" [76mm] x 4" [102mm] tubular spacer, ASTM
A500 steel Grade B

3/16” [5mm] thick cover spacer in ASTM A1011,
Grade 50

5" [127mm] x 7" [178mm] tubular spacer, ASTM
A500 steel Grade B

3/4” [19mm] W/R guardrail assembly and nuts,
total length 90” [2290mm]

3/4” [19mm] W/R guardrail assembly and nuts,
total length 83” [2110mm]

1 1/8"[29mm] bevel washer in accordance to AlSI
1215

1” [25mm] plain round steel washer in accordance to
ANSI B18.22, Type B

Load transfer Post

Upper Tube Spacer
Main Cover Spacer

Main Tube Spacer

Load transfer cable
(long cable)
Load transfer cable
(short cable)

Bevel washer

F844 1" washer

System

Load transfer
section
Load transfer
section
Load transfer
section
Load transfer
section
Load transfer
section
Load transfer
section
Load transfer
section
Load transfer
section

Load transfer
section

Load transfer
section
Load transfer
section
Load transfer
section
Load transfer
section
Load transfer
section
Load transfer
section

Load transfer
section

Number

80
96
156

36

12
12

12

APPROVALS

ach

ded

TL-5STEEL HIGH CONTAINMENT MEDIAN BARRIER

SGM42

SHEET NO. DATE

6 0of 8 03/25/16

A

ArcelorMittal




TURNED DOWN BEAM |
D ==
/: :
:=: 1 m 1 1 m 1 1 m 1 :==:
= : ST : L1 5T :E‘?

- = -

%%
SHORT POST MEDIUM POST

i _.D i C

DROP DOWN SECTION

59.6"[1510]
49.0"[1240]

[890]
35.2"

35.2"[890] __,
31"[790]

I SECTION C-C SECTION D-D
% @

|A 59.0"[1500]

= —_—
I3 E E L
© & I

— —

TOP VIEW

TL-5 STEEL HIGH CONTAINMENT MEDIAN BARRIER

PN SGM42

Arcelorfittal SHEET NO. DATE:

7 of 8 03/25/16



MPI
Tampon


INTENDED USE

The Drop-down section of the TL-5 steel high camtant median barrier should be used when thisdyasi
connected to a lower containment barrier with npaughannel. The drop-down terminates the uppkwirta
a proper drop behind the thrie-beam avoiding arratepted end of the upper rail. Post cross sedcifahe
Drop-down section is the same as the TL-5 post gégnof the Longitudinal containment section.

COMPONENTS
Unit length = 180 inches [4570 mm]

Designator Component System Number
FBBO1 AASHTO Guardrail bolt and recessed nut for splice Drop-down 40
connection in ASTM A307, Grade B section
AASHTO Hex bolt x 2.0” [50mm] and nut in ASTM Drop-down
FBX16a A307, Grade B section 36
" 5/8” [16mm] plain round steel washer in accordatoce Drop-down
F844 5/8" washer ANSI B18.22, Type B section 58
3" [75mm] x 1.75” [45mm] rectangular washer platei  Drop-down
FWROS rect. washer ASTM A1011, Grade 50 section 14
Upstream Turned-down Welded W-beam rail 10-ga, ASTM A1011 steel grade Drop-down
: . ! 1
W-beam 50 — nominal angle 26° — Upstream end section
Downstream Turned- Welded W-beam rail 10-ga, ASTM A1011 steel grade Drop-down 1
down W-beam 50 — nominal angle 26° — Downstream end section
192.5" [4890mm] Thrie-beam rail 12-ga, ASTM Drop-down
RTMO2a A1011 steel Grade 80 section 2
RTBO1a AASHTO Back-up plates 12-ga, ASTM A1011 steel Drop-qlown 6
Grade 50 section
Medium Post 108" [2740mm] long TL5 steel post, ASTM A1011 Drop-o_lown 1
steel Grade 50 section
Short Post 90” [2280mm] long TL5 steel post, ASTM A1011 Drop-qlown 2
steel Grade 50 section
Upper Tube Spacer 3" [76mm] x 4” [1L02mm] tubular spacer, ASTM A500 Drop-qlown 2
steel Grade B section
Main Cover Spacer 3/16” [5mm] thick cover spacer in ASTM A1011, Drop-o_lown 6
Grade 50 section
. 5"[127mm] x 7" [178mm] tubular spacer, ASTM Drop-down
Main Tube Spacer A500 steel Grade B section 6
APPROVALS

CONTACT INFORMATION

ArcelorMittal USA LLC, Global R&D Center
3001 East Columbus Drive,
East Chicago, Indiana 46312
Attn: Richard Clausius
Tel: 219-399-5268
Email: Richard.Clausius@arcelormittal.com

TL-5STEEL HIGH CONTAINMENT MEDIAN BARRIER

SHEET NO. DATE ArcelorMittal

8 of 8 03/25/16




